102

o) 452 35 35

Tempered glass

side plate

TR ERPV CHE 14 B 42
Top plate PVC magnetic filter

N\\

\

R EBPVCRA £ W
Bottom PVC magnetic filter

=

A MR
Right side plate

|

fa—]

E R I
Tempered glass
Front plate
° o}
E—
AMEZRPBHEN

Front easy toremove magnetic filter

o Fu
o tm
e
(o
@ e
(e
D (o

Parts Name Qty Used for
Standoff M3/ M4 6.0 mm 6 Motherboard
Standoff M3/ #6-32 5.0 mm 1 Fixed glass
Screw #6-32 6 mm 4 Power Supply
Screw #6-32 6 mm 5 Graphics card
Screw #6-324 mm 4 3.5"HDD
Screw M3 5 mm 12 Motherboard
Screw #6-32 28 mm 2 FANS
Screw #6-32 6 mm 6 3.5"HDD
Movable tie 3 Cable Management

1

\

BT IR

Assembly steps

SEAAE T AR TT 450
RV N AR

Lay down the case,
remove 4 screws
and take out left/
right side plate

=ANI/058 R, BEA
ENAR R DE

Install I/O plate, then
install motherboard
and lock with screws




FAFTPCISRZz, HUR
PCIR&Z BEAEF

Loosen PCI screws,

? take out PCI slot
plate and then
install Video card

IEAABIF,
S INGEN

Lay down the case,
install PSU

Bi_EFRIRATIRZL

Lock PSU with 4
screws

EEISEREE=
3 x 2.5 8SD

=g |

9t

=
=

==

=

T

=

| 3 x35HDD

SRS
3 x 2.5 SSD

XSk 4
TRMNBERT

°

Fan or liquid cooler
mounting position

e RN,
ZHIEOK

Finally install left/
right side plate,
assembly complete




